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Work done by (x+5) men in (x+10) days is equal to the work done by (x-5) men in (2x-
4) days. Then the value of X is-

(x+5) TET T (x+10) TEAT 7 FoRam T &1 (x-5) G6T R (2x-4) ToAT # foRw 70 el <R

ST E| da x ohT {1 2-
1. 15 2.25 3.30 4. 35




If the ratio of work done by (x-1) men in (x+1) days to that of work done by
(x+2) men in (x-1) days is 9:10 then the value of x is equal to:

ATE (x - 1) U1 5T (x + 1) FEa1 o fohu 70 i o (x + 2) O56T g7 (x-1) fo

T foRT T T T oUTA 9:10 T AT x KT AT & ;
1.5 2.6 3.8 4.10




A certain number of persons were assigned to complete a piece of work in 55 days. If

there were 6 persons more, the work could be finished in 11 days less. How many
persons were originally there?

Uk TT2Id S&aT § et el 55 T&T H Ueh shTH O Rt ok foT0 T9T 747 A1) A1 6 ST T<h
AR BT, q1 T 11 157 w0 | THTH 21 Ak AT 7l &Y H Tohd = s2ih A2

1.20 2. 24 3.28 4.30
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A certain number of persons can complete a work in 54 days. If there were 15 persons

less, it would take 18 days more for the work to be completed. Initially, the number of

persons is:

STRAT hl Uk TATIT ST Uk &1 ol 54 ToT H OX1 ot Wehdt 31 TS 15 Sk 6 g, at
T I T H 18 3T 3R o1 TR #, saTwdi hi HET &:
(a) 60 (b) 56 (c) 50 (d) 72




15 men working 8 hours daily complete a work in 21 days. If work done by 3 women

is equal to 2 men, in how many days will 21 women working 6 hours daily complete
the work?

15 & 8 B UTAT3 ShTH h¥eh Ueh hTH hl 21 1T H U hid | ATS 3 13T ol hH
2 G&UT ok ShTH ok ST B Al 21 HIZAT™ 6 ©¢ Tidied ThTH shich 3HT hTH i Tehd TaAT
H O SR

1. 25 2.28 RAR]| 4. 24
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3 Men or 4 Women can do a piece of work in 43 days. In how many
days 7 men and 5 women can do the same work ?

3 UEY AT 4 HIGATU 43 1371 H Ueh ShTH ot |ehelt 8 Teha 44T H 7 489 31T 5
HEAT SHT ShTH ohi thi Fchd &
1.12 2.15 3.16 4.18
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If 5 men or 9 women can do a piece of work 1n 19 days . In how many days 3

men and 6 women will do the same work ?

iS5 &Y AT 9 HIZeATO TehET ST <kl 19 13T W T ehd &) 3HT hTH hl 3 ATSHT
3R 6 3T Tehad faT ¥ i
1.12 2.15 3.16 4. 20




A wall of 100 meters can be built by 7 men or 10 women in 10 days. How
many days will 14 men and 20 women take to build a wall of 600 meters?

100 e T FaR 7 GEUT AT 10 HigeArsti R 10 &4 7 9918 A1 ARAT 21 600 Hied 6t
FEAR T H 14 GEUT R 20 Hige13dT st feha a1 e

1.15 2.20 3.18 4. 25
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1 man or 2 boys or 3 girls can do a piece of work in 44 days. In how

many days one man, 1 boy and 1 girl can do the same work ?
1 STTEHT IT 2 TSh AT 3 ASThAT 44 &A1 U Ueh ohTH oY Hehd 2| Tehdd o7 U Ueh

3TTEHT, | TTSohT 3TN Ueh Tgchl SET ST Rl i Hehd &7
1.33 2.40 3. 24 4. 54




y MISSION SSC 2023 /BTN L. LIV

10 boys and 9 men can complete a work in 18 days. 12 boys and 6 men can complete
the same work in 20 days. Find the ratio of efficiency of 1 boy and 1 man.

10 Tk 2R 9 ATIHT 18 1571 H Ueh ohTH U oL Tehdl 21 12 TSk AT 6 ATHT Ueh &
SRTH <hT 20 TAT H U7 ShY Hehd 81 1 TTgeh AR | SATSHT Shl FLAT T AU ATd hiTTU)
1.7:10 2.4:9 3.5:11 4.10:7
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5 boys and 8 men can complete a work in 8 days. 2 boys and 9 men can

complete the same work in 10 days. Find the ratio of time taken by 1 boy and 1
man to finish the same work?

5 TTSeh 3R § UEY Ueh hH hi § AT T U o Tehd 8l 2 Tk 3R 9 THT LT i
Rt 10 T5T 7 00 & ehd 21 | TSehT 3R | STEHT g1 |HT T shl O i |
ToTU T THE T ST FTd ehil T

1.13:10 2.4:9 3.5:11 4.10:13
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“ orking 8 hours per day 15 men can complete a work in 6 days thenin
how many days can 18 women finish the half work working 10 hours per day

if work done of 2 men is equal to work done of 3 women in a day ?

g 8 e i fa o/ °teh 15 T6W Uk oW ot 6 T3 W UXT St E1ha & a1 18
afeTd 10 = gfafem s e amer s o foRa ot & ot st wenet € afe
U {3 W 2 T T T 3 WIREATAT o 1 o SR 82

A) 1.5 B)2 C)8 D)3




12 men can complete a work in 8 days .16 women can complete the same
work in 12 days. In how many days can 3 men and 2 women complete the

same work ?
12 T%W Uk T kT § 73T H U7 SR Hehd 31 16 ATETG AT T kT 12 1371 7 9 o
TRl 31 3 TEW HX 2 AIEATE THTH HTI okl Toha o 441 H U ohd Tehed 82

1.8 2.6 3.12 4. 24
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4 men and 5 women can complete a work in 15 days, whereas 9 men and 6 women can

do it in 10 days. To complete the same work in 7 days, how many women should assist
4 men?

4 TEW 3T 5 ARREATT Ueh T T 15 fart § uvn o |ehel § STarfer 9 UHW 3R 6 wigetmy s«
SHTH T 10 AT § 90 T @ehd 2| TATST feh IHT hTH T 7 &1 § O A o 17T, 4 qout
% arer feRaT wigerrett st ST W ST Bhem?

(a) 11

(b) 14

(c) 12

(d) 13




The work done by a women in 8 hours is equal to the work done by a man in 6 hours and by a 0 in
12 hours, if working 6 hours per day 9 man can complete a work in 6 days. Then in how many days
can 12 men, 12 women and 12 boys together finish the same work working 8 hours per

day?

Ueh 31 % gIT § Tt 1 TR 7T w1, Ueh STTEHt & 1T U 770 6 St & o1 % STa) 9907 Ueh a9 o 51T
foRT 7Y 12 HET o TR § AT 6 He TTATaA TIH HId 5T 9 ATTHT Teh 1 T 6 o1 H O ohxd & A 36t
HTH ! TTdfaT 8 TS A I §Y 12 ATHT 12 R AR 12 oot fhrerert fora ot # wrwme e ure?

y
(A) 35 days
(B) 3 days

1
(@) IE days

i |
(D) 15 days

16




4 3
D &
3 ™
8 ¥ e 3
", iy il &
“o, ': o
“Chou °°"
%aw,?qzi"

In an army there are 840 soldiers. They have enough food for 70 days . If 210
soldiers join the army then for how may days the same food have been enough?

T 99T H 840 % gra 21 7% a9 70 fa=T & forw gty s g1 7fe 210 &= g+
H QTS BT SITa g v aar et farae it & forg oate gy asar 82

(A) 45

(B) 52

(C) 40

(D) 56

17




If thee men and five women can complete a piece of work in 8 days and
two men and seven boys can complete the same work in 12 days then find

the number of women required to complete a work in 1 day which 21 boys
can complete in 1 days.

I A SEHT S Qv AT Fohedt 1 it 8 foet § T < T @ ST T ey 3fiX
qTT ASF T &1 F1 12 T F U X goa g ar fohadt Afgend o & § 21
ASHI F g TF fod F 6 1 1 &F S 1 F4

NED

(B) 15

(C) 21

(D) Data inadequate

18




Two men and 7 women can complete a work in 28 days whereas 6 men and 16
women can do the same work in 11 days. In how many days can 7 men complete
the same work?

gl gey 3R 7 AU Teh qvlﬁilﬁZSﬁ\T-ﬁﬁ%Tw\ TJhd & STafh 6
q¥Y 3R 16 AfT 3 FHA F 11 A H H Fh T 7 GIY FA

g I Thdel &l # QU &Y dehd &7
(a) 12 (b) 11 (c) 24 (d) 22

19
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10 men or 15 women can complete work in 30 days. In how many days can 15 men and

27 women complete the work ?

10 &Y T 15 Afgerrd foret i st 30 a1 W O Ry Tehd 21 15 I8W 3R 27 Higeld i ol
frm e A e e 8 2

12 = (01— @1—
@177 M 1m (gl (D17

20







